PO# 122562 BH rec 416403 Remit To:



HR Green, Inc. PO Box 8213 Des Moines, IA 50301-8213 1-800-728-7805

July 28, 2017

Project No:

85140001

Invoice No:

113150

County Auditor 301 Jackson Richmond, TX 77469

Fort Bend County, TX

Project

85140001

Fort Bend Co - Sugar Land-Howell Rd

Purchase Order No. 122562

Includes Amendment No. 1, 2, 3

P	rof	ess	sio	na	LS	er	/ic	es	Th	ro	ual	n J	un	e 3	30.	20	17	7
-	-	-	-	-	-	-	30000	-	-	-	Bosed	-	Jones	-	-	-	-	•

Phase	C	Phase 3 - Bid and	d Constructi	on				
Professional Pers	sonnel							
			1	Hours	Rate	Amount		
Senior Profess	sional							
Olivas, Je	sus	5/31/2017		6.00	180.00	1,080.00		
Olivas, Je	sus	6/1/2017		6.00	180.00	1,080.00		
Olivas, Je	sus	6/5/2017		4.00	180.00	720.00		
Olivas, Jesus		6/6/2017		4.00	180.00	720.00		
Olivas, Jesus		6/12/2017		7.00	180.00	1,260.00		
Olivas, Jesus		6/13/2017		2.00	180.00	360.00		
Technician								
Flores, Reyes		6/12/2017		7.50	80.79	605.93		
Flores, Reyes		6/13/2017		8.50	80.79	686.72		
Administrative								
Morgan, Christi		6/8/2017		2.00	72.70	145.40		
Totals				47.00		6,658.05		
	Total Labor						6,658.05	
Billing Limits			Current		Prior	To-Date		
Total Billings Limit Remaining	9		6,658.05		5,410.92	12,068.97 19,935.00 7,866.03		

Total this Phase

Total this Invoice

\$6,658.05

\$6,658.05

Project	85140001	Fort Bend Co - Sugar Land-Howell Rd	Invalce	113150
Billing Backup HR Green, Inc.			Friday, July 28, 2017	
		Involce 113150 Dated 7/28/2017	9:35:44 AM	
Project	85140001	Fort Bend Co - Sugar Land-Howell Rd		
Phase	c	Phase 3 - Bid and Construction		
		Total this Pha	se \$6,658.05	
		Total this Proje	ct \$6,658.05	
		Total this Repo	ort \$6,658.05	







D 11011 Richmond Avenue | Suite 200 | Houston, TX 77042

Main 713.965.9996 + Fax 713.965.0044 + TBPE Firm F-11278

July 28, 2017

Mr. Donald Durgin, PE RPS Klotz Associates 1160 Dairy Ashford, Suite 500 Houston, Texas 77079

Re:

Fort Bend County 2013 Mobility Bond Program – No. 13211 Sugar Land-Howell Rd from Bissonnet to Old Richmond

P.O. No. 122562

Dear Mr. Durgin:

Enclosed please find two copies of our latest invoice for the referenced project.

Please feel free to contact me should you have any questions or need additional information during your review of this invoice.

Sincerely,

HR GREEN, INC.

Jesus M. Olivas, PE Project Manager

Enclosures

Harris, Britten

From:

Don Durgin < Don. Durgin@rpsgroup.com>

Sent:

Friday, August 11, 2017 8:04 AM

To:

Harris, Britten

Subject:

13211 Sugar Land-Howell Invoice 019 - 113150

Attachments:

13211 Sugar Land-Howell 019 - 113150.pdf

Britten,

I have reviewed the attached invoice and recommend approval. Please process for payment.

HRGreen provided bid phase services on a time & material basis, which included revising plans after a final submittal. That is why their bid & construction phase services charges are more than normal. Thanks.

Don Durgin Department Manager RPS | Infrastructure 1160 N Dairy Ashford, Suite 500, Houston, Texas 77079 USA

T +1 281 589 7257 F +1 281 589 7309

M +1 713 269 3913

E Don.Durgin@rpsgroup.com

W www.rpsgroup.com/usa

Formerly Klotz Associates

This e-mail message and any attached file is the property of the sender and is sent in confidence to the addressee only.

Internet communications are not secure and RPS is not responsible for their abuse by third parties, any alteration or corruption in transmission or for any loss or damage caused by a virus or by any other means.

RPS Group Plc web link: http://www.rpsgroup.com